
INSTALLATION 

 PARTS INCLUDED 
1  Chrome Inner Primary Cover 
1  Hardware Kit Including: 

2  “L” Brackets
1  “Z” Bracket
4  #6-32 x 1/4” Slotted Pan Head Screw 
1  1/4”–20 x 1/2” Socket Head Cap Screws 
1  1/4” I.D. Split Lock Washer  
1  1/4” I.D. Flat Washer  
1  5/16”–18 x 1-3/4” Hex Head Cap Screw 
1  5/16” I.D. Flat Washer  
1  Anti-rattle Gasket — Foam 

1 Installation Instructions

Please read and understand entire instructions before starting installation.  

THANK YOU FOR CHOOSING KϋRYAKYN! 

IN ORDER TO PROTECT YOU AND OTHERS FROM POSSIBLE INJURY AND/OR 
PROPERTY DAMAGE OR LOSS, PLEASE PAY CLOSE ATTENTION TO ALL       
INSTRUCTIONS, WARNINGS, CAUTIONS AND ATTENTION NOTES REGARDING 
THE USE AND CARE OF THIS PRODUCT. 

WARNING! THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING 
THE CONTENTS DESCRIBED HEREIN CAN RESULT IN  
POTENTIAL DEATH OR SERIOUS INJURY. 

ATTENTION! This indication alerts you to the fact that ignoring the contents
described herein may negatively affect product performance and  
functionality.

TOOLS SUGGESTED 
Set of Hex Wrenches, Socket Set and Ratchet, Torque Wrench-ft/lbs and in/lbs,  
Blade Screwdriver 

STRICTLY OBSERVE THE FOLLOWING GUIDELINES IN ORDER TO USE THE 
PRODUCT PROPERLY AND AVOID POTENTIALLY DANGEROUS ACCIDENTS.  

STEP 1 Read and understand all steps in the instructions before starting the  
installation. Park the motorcycle on a hard, level surface and turn off the  
ignition. Let cool. 

WARNING!  YOU WILL BE WORKING AROUND THE ENGINE AND EXHAUST 
SYSTEM DURING INSTALLATION. ENSURE THAT THE ENGINE 
AND EXHAUST SYSTEM HAVE FULLY COOLED TO PREVENT 
INJURY. 

DELUXE INNER PRIMARY COVER   8291 

-cont.-

https://www.motorcycleid.com/kuryakyn/


PAGE 

2

STEP 2  See PIC.1. Remove the four stock fasteners indicated. 

STEP 3  Install the two “L” brackets as shown in PIC.2 using the supplied four 
#6-32 X 1/4” slotted pan head screws. 

STEP 4  Install the “Z” bracket as shown in PIC.3 using the supplied   
1/4”-20 X 1/2” socket head cap screw, 1/4” lock washer and 1/4” flat  
washer.

STEP 5  Place the cover in position on the inner primary case. Secure the front  
mounting point with the 5/16”–18 x 1-3/4” hex head cap screw provided. 
Torque to 17 foot pounds. 

STEP 6 Secure the remaining three mounting points with the stock socket head 
cap screws removed in STEP 2. Torque to 108 inch pounds. 

ATTENTION! It is the installers’ responsibility to make sure all fasteners
(including pre-assembled) are tightened before operation of  
motorcycle. Küryakyn will not warranty components that are lost 
due to improper installation. Periodic maintenance may be  
required.

Ride On! 
DELUXE INNER PRIMARY COVER INSTALLATION

PIC 1 

PIC 2 

PIC 3 

REMOVE THESE FOUR FASTENERS 

TOP OF INNER PRIMARY COVER 

Discover various motorcycle custom accessories and trim in our online store.

https://www.motorcycleid.com/custom-accessories-trim.html



